

Market Intelligence Report 2013 Colorado Mountains

August 26, 2013 / L By HVS

The following HVS Market Intelligence Report explores hospitality markets in Colorado's Eagle, Pitkin, Routt, San Miguel, and Summit Counties, which include internationally renowned ski resort areas such as Keystone, Breckenridge, Copper Mountain, Winter Park, Vail Resort, Beaver Creek, Aspen, Snowmass, Telluride, and Crested Butte. The majority of these markets in the Colorado High Country realized a very good start to 2013 compared to the prior year, a result of higher recent snowfall totals at the resorts; the 2011/2012 ski season was one of the worst snowfall seasons on record and resort visitation suffered.

Many of these lodging markets rely on both long-term and short-term booking segments. The long-term segment often stretches six to eighteen months in advance and primarily comprises out-of-state visitors planning summer and winter vacations; this clientele is more impacted by general economic conditions versus snowfall totals. Short-term bookings are typically made by in-state visitors and are booked anywhere from several weeks in advance to the day of arrival; short-term bookings are impacted very significantly by snowfall and other weather conditions. Overall, given the favorable snow, weather, and economic conditions, lodging markets across the Colorado Mountains are expected to realize a relatively strong year in 2013.

Overview of the Nationals & Colorado Ski Industry

Data on the 2011/12 ski season from the National Ski Areas Association (NSAA) and the Kottke National End of the Season Survey show skier visits in the U.S. down 15.8% compared with numbers from the prior winter ski season. The drop reflects the economic stagnation and low snowfall levels that affected skier visits nationwide this past season. The 2011/12 season was also marked by the lowest national average resort snowfall since 1991/92, the second-lowest snowfall in 21 years of available data. According to the survey, 50% of responding ski areas opened late during the season, and 48% closed early. Every region experienced a decrease in overall days of operation, which resulted in an overall decline in skier visits. Significant declines in skier visits occurred in the Pacific Southwest, which was down 25.2%; the Southeast was down 23.9%; the Northeast was down 20.6%; and the Midwest was down 18.3%. More modest declines in total skier visits were experienced in the Rocky Mountain and Pacific Northwest regions, which decreased by 8.5% and 2.0%, respectively.

This recent downturn followed a record-setting year in 2010/11 when skier visits rose roughly 1.3% (to 60.5 million) from levels in 2009/10; this was slightly higher than the previous peak in 2007/08. Again, strong snowfall, reportedly up 29% from the prior season, accounted for the high visitation levels in 2010/11.

The following table details U.S. ski industry statistics and trends.

U.S. ANNUAL SKIFR VISITS

U.S. ANNUAL SKIER VISITS							
Season	Total Number of U.S. Skler Visits (In millions)	Year over Year Change*	Average Annual Compounded Change**	Average Annua Compounded Change***			
1981/82	50.718	_	_	_			
1982/83	45.861	(7.50) %	(7.60) %	_			
1983/84	50.630	8.04	(0.09)	_			
1984/85	51.354	1.43	0.42	_			
1985/86	51.921	1.10	0.59	_			
1986/87	53.749	3.52	1.17	_			
1987/88	53.908	0.30	1.02	0.30 %			
1988/89	53.335	(1.06)	0.72	(0.39)			
1989/90	50.020	(6.22)	(0.17)	(2.37)			
1990/91	45.722	(6.59)	(0.91)	(3.44)			
1991/92	50.835	8.80	0.02	(1.11)			
1992/93	54.032	6.29	0.58	0.09			
1993/94	54.637	1.12	0.62	0.23			
1004 /05	E7 E77	(2 EO)	0.70	(0.25)			

Summary

Colorado's ski resorts draw millions of annual visitors. The lodging industry throughout the Colorado mountains comprises hotels and privately rented rooms and condos. How could a shift in this balance affect hotel performance in the years ahead?



FILED UNDER CATEGORIES

Economic Trends and Cycles

North America

1994/30	24.077	(2.23)	0.29	(0.43)
1995/96	53.983	2.48	0.45	0.05
1996/97	52.520	(2.71)	0.23	(0.23)
1997/98	54.122	3.05	0.41	0.06
1998/99	51.950	(4.01)	0.14	(0.28)
1999/00	52.198	0.48	0.16	(0.22)
2000/01	57.337	9.85	0.65	0.45
2001/02	54.411	(5.10)	0.35	0.08
2002/03	57.594	5.85	0.61	0.43
2003/04	57.067	(0.92)	0.54	0.35
2004/05	56.882	(0.32)	0.50	0.32
2005/06	58.897	3.21	0.62	0.48
2006/07	55.068	(6.50)	0.33	0.12
2007/08	60.502	9.87	0.68	0.57
2008/09	57.354	(5.20)	0.47	0.31
2009/10	59.787	4.24	0.63	0.51
2010/11	60.540	1.30	0.68	0.57
2011/12	50.966	-15.8	0.02	(0.24)
*From pre	vious season.			
**From 198	1/82 season.			
***From 198	6/87 season.			

Source: National Ski Areas Association/ Kottke Survey July 2012

Total skier visits have remained relatively flat over the historical period, increasing at an average annual compounded rate of only 0.68% since 1981/82; however, dramatic changes have occurred in skier visits on a year-to-year basis, ranging from decreases as large as 7.6% in the 1982/83 season to increases as large as 9.87% in the 2007/08 season. National skier visit counts are likely to continue to bracket the 60-million mark in the near future given the factors cited above and the absence of a cohesive and cooperative strategy to increase visitation levels on a national basis.

Colorado typically ranks as the top state in the nation for total skier visits by a significant margin. According to NSAA data, Colorado's 30 ski resorts captured 11,031,409 skier visits in 2011/12, a 10.5% decline compared with the 12,322,903 skier visits in 2010/11. Overall, Colorado's ski industry generates more than \$1.5 billion in revenues per year, with the average ski trip consisting of 4.5 nights at a hotel or other type of lodging facility.

The following table details skier visitation levels to Colorado since the 2002/03 season.

COLORADO HISTORICAL SKIER VISITS

	Colorado Skier Visits (in		Average Annual Compounded		
Season	millions)	% Change*	Change**		
2002/03	11.6	_	_		
2003/04	11.2	(3.4)	(3.45)		
2004/05	11.8	5.2	0.77		
2005/06	12.5	6.1	2.50		
2006/07	12.6	0.5	2.01		
2007/08	12.5	(0.3)	1.54		
2008/09	11.9	(5.2)	0.37		
2009/10	11.9	0.2	0.34		
2010/11	12.3	3.7	0.76		
2011/12	11.0	(10.5)	(0.56)		
*From pre	vious season.				

Source: National Ski Areas Association/ Kottke Survey

Aside from fluctuations caused by economic and weather conditions, overall visitor counts range between a low of 11 million to a high of 12.6 million skier visits, putting Colorado's ski resort markets ahead of others in the nation in terms of total annual visitation.

Economy Update Hotel Construction Update

Barriers of entry remain high in the development of new hotels in the Colorado Mountains. The lack of construction-ready land near ski resorts, as well as the cost of available land, provides limited opportunities for new builds. The development of condominium hotels has helped drive new supply in the past, but recent economic conditions and unfavorable lending parameters have limited this concept. Furthermore, many of the ski resort towns are limiting the development of condominium hotels as they push for development of so-called "hot beds," which refer to typical transient hotel accommodations versus condominium hotels and timeshares.

According to HVS research, ten new hotels are in the pipeline across the Colorado Mountains; however, many of these are in the earliest stages of development. Most represent a mix of hotel, condominium, and timeshare

^{**}From 2002/03 season.

units and often include a retail component as well. The locations of the proposed hotels include the following markets:

- Aspen
- Avon
- Vail
- Breckenridge
- Dillon
- Telluride

While many new hotels are expected to enter the market in the coming years, the percentage increase to the overall market supply will be minimal.

HVS notes that increased use of and improvements to online reservations systems and condominium/vacation home rental programs have notably influenced the dynamics of ski resort lodging markets in Colorado; apps for smart phones and tablets have also been a factor in increasing access to lodging options. Together with more ownership control and centralized reservations systems, the use of these programs has increased in recent years. This has brought a wider range of non-traditional lodging options such as privately owned condominiums and homes into the inventory of markets traditionally dominated by hotels, making these marketplaces more competitive. Online reservations systems have also encouraged more short-term bookings, as weekend visitors can book accommodations online at very short notice versus having to send a check and await confirmation.

Outlook on Market Occupancy and Average Rate

Long-term bookings are often made months in advance, with stays comprising at least a week. The booking patterns of this long-term segment are heavily dependent on the strength of the economy, with resorts and surrounding communities realizing growth from this segment in healthy economic times. For the short-term segment, weather patterns make a more direct impact; if a particular area or resort is seeing substantial snowfall, short-term bookings typically pick up. Some crossover remains, such as when resorts attempt to counter a poor snow year with incentives and deals the following year to help increase bookings; similar attempts ensued following the onset of the recent recession, which brought a decrease in discretionary spending that discouraged local skiers wary of paying for the gas, lodging, and food costs associated with a weekend trip.

The following table details the lodging performance of resort markets in Colorado with reference to annualized data on ski visits.

COLORADO SKIER VISITS AND LODGING PERFORMANCE FIGURES

	Colorado Skier Visits (in		Average Annual Compounded	Area Hotel		Area Hotel Average		Area Hotel	
rear	millions)	% Change*	Change**	Occ. %	% Change*	Rate	% Change*	RevPAR	% Change*
2008	12.3	_	_	55%	_	\$259	_	\$142	_
2009	11.9	(3.5)	0.38	46%	(15.3)	\$238	(8.2)	\$111	(22.3
2010	12.0	1.3	0.52	49%	5.3	\$236	(0.7)	\$116	4.5
2011	11.9	(1.1)	0.31	53%	7.9	\$238	0.7	\$126	8.7
2012***	12.0	0.6	0.35	55%	4.4	\$254	6.4	\$140	11.1
*From previo	ous season.								
**From 2002/	03 season.								

Occupancy and average rate both realized strong performance in 2012, following two years of occupancy growth but minimal movement in rates. This was the result of an improving economy and an overall better start to the 2012/13 ski season; the strong demand allowed operators to realize average rate growth of 6.4%. The outlook for 2013 is optimistic, as the favorable skiing conditions that started the season have continued into the most recent months. Furthermore, many resorts have recently added attractions to help boost visitation during the summer and "mud-seasons," which extend from mid-April to late May (Memorial Day) and again from September (after Labor Day) through the Thanksgiving holiday and the opening of ski season in November. This activity should result in continued improvement in market RevPAR.

Recent Hotel Transactions

Hotel transactions that have occurred near major ski resorts in the western U.S. over the last ten years are summarized in the following table.

REVIEW OF HOTEL TRANSACTIONS

Property	Location	Sale Date	Price	Rooms	Price/Rm
Elevation Hotel & Spa	Mount Crested Butte, Colorado	Feb-13	\$14,000,000	254	\$55,118
A & A Lake Tahoe Inn	South Lake Tahoe, California	Jan-13	1,250,000	33	37,879
Ritz-Carlton Lake Tahoe	Truckee, California	Dec-12	73,600,000	170	432,941
Beach Retreat & Lodge Tahoe	South Lake Tahoe, California	May-12	14,200,000	262	54,198
Ambassador Motor Lodge	South Lake Tahoe, California	May-12	1,475,000	58	25,431
Lake Of The Sky Inn	Tahoe City, California	Jun-11	1,000,000	23	43,478
Quality Inn & Suites Steamboat Springs	Steamboat Springs, Colorado	Jun-11	2,900,000	52	55,769
Avalon Lodge	South Lake Tahoe, California	Dec-10	700,000	20	35,000
St. Regis Aspen	Aspen, Colorado	Sep-10	70,000,000	179	391,061
Cedar Glen Lodge	Tahoe Vista, California	Jun-10	1,625,000	31	52,419
Blue Lake Inn	South Lake Tahoe, California	May-10	1,741,000	68	25,603
Hempen Inn	South Lake Tahoe, California	Mar-10	510,000	13	39,231
Sebastian Vail	Vail, Colorado	Jan-10	52,000,000	100	520,000
Alpine Inn & Spa	South Lake Tahoe, California	Aug-09	1,420,000	39	36,410
Secrets Inn	South Lake Tahoe, California	Aug-09	1,598,776	23	69,512
Heavenly Inn	South Lake Tahoe, California	Aug-09	1,251,216	18	69,512
Holiday Inn Express Park City	Park City, Utah	Jul-08	10,150,799	76	133,563
Hampton Inn & Suites Park City	Park City, Utah	Jul-08	11,471,114	81	141,619
Hampton Inn & Suites Steamboat Springs	Steamboat Springs, Colorado	Nov-07	6,273,000	68	92,250
Park Hyatt Beaver Creek Resort	Avon, Colorado	May-07	49,661,820	190	261,378
Hotel Jerome Aspen	Aspen, Colorado	May-07	52,000,000	92	565,217
Knights Inn South Lake Tahoe	South Lake Tahoe, California	May-07	3,100,000	34	91,176
Sheraton Steamboat Resort & Conference Center	Steamboat Springs, Colorado	May-07	58,000,000	315	184,127
Peaks Grand Heritage Resort & Spa Telluride	Telluride, Colorado	Aug-05	15,249,716	174	87,642
Marriott Vail Resort	Vail, Colorado	Jun-05	62,000,000	345	179,710
Lodge & Spa at Breckenridge	Breckenridge, Colorado	Oct-03	6,000,000	45	133,333
West Vail Lodge	Vail, Colorado	Apr-03	6,000,000	115	52,174

Sales of lodging assets in these markets over the past decade extend over a wide range of property types and prices per room. The Hotel Jerome in Aspen achieved the highest price per room when it sold in 2007, followed closely by the Sebastian Hotel in Vail in 2010.

Brokers' Outlook

HVS interviewed several brokers active in hotel transactions and developments in the Colorado Mountains. While activity has been slow on hotel properties located in the resort areas, interest has begun to increase with respect to the availability of land, as well as in the resale of existing condominium units. In general, most of the hotel transactions or listings are occurring in smaller mountain towns that are not necessarily associated with the ski industry, such as those markets capturing commercial demand from the oil and gas industry. Overall, brokers report that cap rates in the oil and gas-driven areas of the western slope of Colorado range from 8% to 11%. The cap rates associated with the more upscale properties near the ski resorts range from 5% to 8%, depending on the specific market and lodging product.

Conclusion

Resort markets across the Colorado Mountains are in midst of recovery after experiencing both economic and weather-related hindrances to growth. Hotels and lodging assets in most of the markets are in their second or third year of RevPAR growth, fueled chiefly by an earlier increase in demand. Average rates in most of these markets are rising; this trend is expected to continue, with markets realizing modest demand growth, and hotels and resorts continuing to command higher rates. The absence of any immediate new supply in the short term should help sustain this growth for an additional one to two years, poising hotels and resorts in the Colorado Mountains for relatively strong performance over the near term.